Algebra 2A Unit 3 Stations Review Name:
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Unit 3 Stati

ons Answers

® GRAPHING QUADRATIC FUNCTIONS

axis of symmetry: )( =—|

x-intercept(s): -
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@ SOLVING QUADRATICS

1 2
Y= lt505 (o 1tz
® SOLVING QUADRATICS PART 2
1 2 S s
X= - 2T = 3,732
@ SOLVING QUADRATICS PART 3
1 2
X=1-5
X’/ ’5 -',- —é_ L )
® COMPLEX NUMBERS
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® GRAPHING PART 2

axis of symmetry: >( = vertex: (2 - 23
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y-intercept: _ ;_ x-intercept(s): o -
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@/maxz ( 2’ —33 domain: T2 range: \(j > -2
end behavior: )5 X — + DQ/ -P()() 24+ 4 5
0 X-=—vo , L (X)= +0 m v

@ GRAPHING PART 3

I |

axis of symmetry: X =—92 vertex: G 2) - ’|j ; E
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y-intercept: (O | |\ x-intercept(s): — L4 t\l—\_'/—l ~ b , i ‘ 3 ‘ T,
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@max: (-—QI-’D domain: ﬂa range: ﬂ =-1 i :

end behavior: (¢ X -I—DOJ _P[\A_a + 0 Yé
O X=-0, £6D -0 v

MODELING DROPPED AND LAUNCHED OBJECTS
1 2
0=-luvt? i1 10 =—llot*+22t + 20w
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®FIND THE ERROR
1 2
mistake that was made: {Ig. olgnp min d.‘h)r mistake that was made: )7 Q% nare. oo
in Step 2 <hould vE 2p 12 Lo
correct answer: e |UD -4 ‘(/’L correct answer:
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